










4t

w

1 2 3 4 5 6 7
Start Work 

Work Ended 

Work 
Communication
Idle

Nodes

Ti
m

e

1 2 3 4 5 6 7
Start Work 

Work Ended 

Work 
Communication
Idle

Nodes

Ti
m

e

2t

2t

w'

w'=max work





 0.02

 0.04

 0.06

 0.08

 0.1

 0.12

 0.14

32 128 512 2K 8K 24K 64K

Ex
pe

ct
ed

 T
im

e 
(m

se
c)

No. of Processors

Exponential, w=10 us

f=0
f=0.001
f=0.005

f=0.01
f=0.05

f=0.1

 1

 1.2

 1.4

 1.6

 1.8

 2

 2.2

 2.4

32 128 512 2K 8K 24K 64K

Ex
pe

ct
ed

 T
im

e 
(m

se
c)

No. of Processors

Exponential, w=1 ms

f=0
f=0.001
f=0.005

f=0.01
f=0.05

f=0.1



 2

 4

 6

 8

 10

 12

 14

0 25K 50K 75K 100K 125K

Ex
pe

ct
ed

 T
im

e 
(m

se
c)

No. of Processors

Pareto, w=2ms, f=0.005

ideal, f=0
a=1.5

a=2
a=3
a=5

 2

 3

 4

 5

 6

 7

 8

 9

0 25K 50K 75K 100K 125K

Ex
pe

ct
ed

 T
im

e 
(m

se
c)

No. of Processors

Pareto, w=2ms, a=3

ideal, f=0
f=0.001
f=0.005

f=0.01
f=0.05

f=0.1

 0

 5

 10

 15

 20

 25

4 16 64 256 1K 4K 16K 64K

Ex
pe

ct
ed

 T
im

e 
(m

se
c)

No. of Processors

Bernoulli Noise, w = 2ms, p = 0.0004
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